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ANSWERKEY 

LEVEL : PRIMARY 4 
SCHOOL : HENRY PARK PRIMARY SCHOOL 
SUBJECT : SCIENCE 
TERM : SA2 

BOOKLET A 
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X Windpipe Air Respiratory 

y Gullet 

Q29b) The large intestine 

Q29c) Oxygen and water 

Food Digestive 
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Q30a) No. Roots in both B and D are tied in air-tight plastic bags 
and the number of leaves in each set-up are different. 
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Q30b) She is trying to find out if the plants take in water through 
their roots. 

Q30c) The roots anchor the plant firmly to the ground .. 

Q31) 
Matter Non-matter 

Water Shadow 
Heat 

Q32a) *X and Y should have same water level as basin* 

Q32b) In container X, air can escape. Water enters to ftll up the 
space in the container. 

Q33a) increases 

Q33b) solid 

Q34a) The hot water 

Q34b) Material Q. After 20 minutes, the temperature of the hot 
water in Q was the lowest. It indicates that Q is the best 
conductor of heat since it transferred heat away from the water 
the fastest. 

Q34c) Material S. The temperature of hot water in S is the highest 
after 20 minutes. It indicates that S is the poorest conductor of 
heat and thus is the most suitable for oven gloves as it will 
transfer heat from the hot tray to her hands the slowest. 



Q35a) The underground temperature shown in the table is cooler 

than the surface of the sand. Hence, the lizard buries itself in the 

sand, going deeper underground so it can lose heat to the sand 

and become cooler. 

Q35b) The metal lid is a better conductor of heat than the jar so it 

gained heat faster and expanded more than the glass jar. 

Q36a) *Tick* - Distance between the torch and the light sensor, d

- The thickness of the material

Q36b) Material D. The light sensor detected the least amount of 

light that passed through Material D. This indicates that D allows 

the least light to pass through and is favourable to make curtains 

to keep his room as dark as possible. 

Q36c) As Daisy walked to D, her shadow became shorter but 

lengthened when she walked to E. 

Q37a) No. Light travels in a straight line and the hole in C was 

not aligned with the rest of the other holes. Wood does not allow 

any light to pass through and therefore light reflected from the 

star will not go to Tim's eyes. 

Q37b) C 

Q38) 1st 
animal: Mammal 

2nd animal: fish 

3rd
animal: bird 

Q39a) C. There was no coloured water absorbed by C. This 

indicates that C is waterproof and is ideal to make a raincoat 

which aims to keep the water away from the wearer. 
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Q39b) No. B absorbed water but plastic is waterproof. 

Q39c) Strength 

Q39b) U. U is the only material that can carry more than 6kg 

without breaking. Since the lantern is 6kg, U is the suitable choice. 

Q40a) i: attract ii: attract 

Q40b) The magnets were facing X, which is a magnetic material 

so they attracted and were pulled down along with the springs. 

Q40c) B. The spring stretched further with Magnet B than with 

. Magnet A. This indicates that Magnet B has. greater magnetic 

strength than A. 

Q41) A: Seed 

C: Adult plant 
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